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Name the ruler of Russia when the R

broke out in 1917,
(A) Louis XVI
(B) Nicholas Il
(C) Louis XIV
(D) Trotsky




C_\'clnncs are :

(A)

Low pressure systems towards which
there are whirlwinds

(B)

Low pressure systems from which there
are whirlwinds

High pressure systems towards which
there are whirlwinds

High pressure systems from which there
are whirlwinds




74. Who is referred to as ‘Piyadassi’ ?
(A) Chandragupta Maurya
(B) Chandragupta II




75.  The term ‘Black Death’ denotes :

End of shoguns in Japan

Occurrence of Plague

Decline of Mayan Civilization

Decline of trade routes
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ldentify the civilization that flourished n
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(B)  Mississippi

(C) Aztec

(D) Patayan



79.  Mention the nature of the Pahariya

rebellion.
Peasant revoll

Revolt of workers

Tribal revolt

Revolt of sepoys




80. Which Amendment included Education
as a Fundamental Right in Indian

Conslitution ?

42 Amendment

15t Amendment

60t Amendment

86" Amendment



81.  Thejoimnt sitting ot tl
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ldentily the corred |

FFast Austra

current

West Australian curre nt 1s .«

current.,

Both LEast Australian and West
.-\untmh.uu urrents are warm ( urrents.

Both East Australian and West
Australian currents are cold currents.




83. The gradc of Coal mostly mined in India :

(A) Peal
B) Lignite

(
(C) Bituminous

(D) Anthracite




84.

The term democracy is derived from which

language ?
Latin

French

Greek

Roman



In the context of economic development,
“human capital” refers to :

(A) Physical infrastructure

(B) Capital investment in privale sector

(C) The skill, education and health of the
population

(D) Employment opportunities created in
the economy
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(D) Western disturbances




87. Who formed the Swaraj Party ?

Subhash Chandra Bose

Surya Sen and Lala Hardayal

Bhagat Singh
C.R. Das and Motilal Nehru




88.

In Medieval Kerala, the land under the

control of l(*mplm 15 known as :

A)  Cherikkal

Devaswom




What is meant by ‘Capital Receipts” in the
Govt. Budget ?

(A)

Receipts that the government receives
from taxes and duties.

(B)

Receipts that arise from borrowing or
sale of assets.

(©)

(D)

Receipts from public enterprises and

services.

Receipts that are used for the
development of human resources.




90.

Human Development Index measures :
(A)
B)

Economic Growth

Political inslahilily of a nation

&

Social well-being and quality of life

(
(
(

D

)
)

Availability of natural resources in an
economy




91, Anti - Deftection Taw as part of whi |
‘hick

)

schedule of Indian Constitution

(A) 10" Schedule

(B) 8™ Schedule
(C) 12'" Schedule

(D) 7 Schedule




Statement 1

The New Economic Policy of 1991 included
the devaluation of the Indian Rupee as one
of the kev reforms.

Statement II :

The policy also focused on the privatization
of large public sector enterprises and the
reduction of government intervention in the
economy.

Which of the following is correct ?

(A)

Statement I and Statement II are
correct.

(B)
()

(D)

Statement I and Statement II are
incorrect.

Statement I is correct, but Statement
II is incorrect.

Statement I is incorrect, but Statement
Il is correct.




Identify the practices that helps sustainable

development :

(1)
(11)
(iii)
(iv)

Use of wind energy
Use of solar energy
Use of fossil fuel

Crop rotation

(A)

(i), (i1) and (iii1) only

(B)
(©)
(D)

(i1), (i1i) and (iv) only
(i), (1) and (iv) only
(i), (iii) and (iv) only
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Identify theatom bomb dropped in Nagasaki

in 1945 :

A)
B)

Little Boy
ittle Man

Fat Man

(
(
©)
(D)

‘at Boy




95.  Which of the following is the main function
of the Reserve Bank of India (RBI) ?

(A) Tomanage the country’s foreign trade.

To control the money supply of an

economy.

To control the share market.

To collect porsona] income taxes.




96.

Who is known as ‘Andhra Kesari” ?

Dr. Palpu
(C) C Gankaren Nair
D) TK Madhavan



97. Identify the correct statement regarding
contours :
Widely spaced contours indicate steep
slopes.

Closely spaced contours indicate steep
slopes.

Closely spaced contours indicate
gentle slopes.

Absence of contours indicate vertical
slopes.




98. The writ used to challenge legitimacy of a
person’s claim to public office.

Habeas Corpus

Mandamus

Quo-warranto

Prohibition
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ldentify the <tatements thhat re

SaClor

{1)

Jate to }‘uhlh'

Organisation that 1s owned and
Government.

ives of public sector
regionally

managed by the
One of the object
undertakings is to promote
balanced development.

Some public sector undertakings are

non-profit organisations while some
others participate in commercial

activities.

(1) and (1) only
(ii) and (iii) only
(i) and (iii) only

(i), (ii) and (iii)




Which Article of Indian Constitution was
referred by Dr. B.R. Ambedkar as the very
art of the Constitution.

101.

soul and he

(A) Article 215
(B) Article 44
(C) Article 32
(D) Article 321




102. Which among, the following was not a
Mahajanapada ?
(A) Avanti
B) Kamboja

(
(C) Anga
(D) Vaishali




103,

'he Uttaramerur 1ns
with :

(A)  The Mughals

(B)  The Marathas
(C)  The Khaljis

(D) The( holas




104. Dark rain bearing clouds are called :

Nimbus clouds
ratus «

Cirrus clouds

Cumulus clouds




105. Marble is the metamorphic form of :

(A) Basalt
(B) Sandstone




106. Identify the Peninsular river which is not
originating from Western ghats.

(A) Mahanadi

(B) Godavari
(C) Krishna
D) Kaveri




107. The Black soil rich regionin Peninsular India

Chota Nagpur region

Aravalli region

Deccan trap region

Nilgrrregion



108. Which among the following is incorrect
regarding sun synchronous satellites ?

(A) Polar Orbiting

(B) Atan altitude of 36000 km from the
earth

IRS series of satellites are examples

Largely used for remote sensing



109. The Harappan site Kalibangan is sity
in:

(A) Gujarat

aled

(B) Haryana
C) Punjab
(D) Rajasthan




110.

Match the following and choose the correct
combination :

Agent Landform

=

(@)

Running water| (i) |Barkhan

(b)

Wind (i) |Delta

(<)

Glacier (iii) | Moraine

(A)

(a)-(ii), (b)=(i), (c)-(ii)

(B)
(©)
(D)

@-0), (B)-Gi), (©)-Gii)
(a)-(iii), (L)AH), ()-(ii)
(a)-(ii), (b)-(iii), (€)-()




111. Who is the founder of the Self Respect
Movement ? ~

Viresalingam
C

Atmaram Pandurang

Jyotiba Phule

E.V. Ramaswami Naicker




112. If the maximum temperature is 36°C and
minimum temperature is 20°C, which
among the following combinations represent
diurnal range and daily mean temperature

respectively ?

(A) 10°C and 30°C
(B) 18°C and 20°C
(C) 16°C and 28°C
(D) 28°C and 16°C
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eptembe

NMarch

December




114. The Edakkal cave in Kerala |

Palacolithi




115. A tax system that imposes higher rates on
higher income levels is known as :

(A) A regressive tax system

B) A progressive tax systemm

(
(C) A proportional tax system
(

)
D) A unitary tax system



116. Soils formed by the weathering of Basaltic
lava rocks :
Alluvial soil

Black soil
(C) Redsol
(D) Laterite soil




d with protecting and

sites globally.

117. UN agency associate
preserving heritage

[AEA
IMF
UNICEF
UNESCO




res are the result of :

118. Mid oceanic ridy
(A) Plate convergence

Ghear movements of plates

(C) Plate divergence







Contral State Relations

Fundamental Right




v paradipgm is the foundation of
Obyective Based Instruction
Constructivism

Copgmuvism

(D)  Experiential Learning,




122. Who among the following is not associated

with the Taxonomy of Educational

Objectives under psychomotor domain ?

(A) Krathwohl

(B) Simpson
(C) Harrow
(D) Dave




123. A heterogencous group with varving

cultures and value systems

(A Communily

((.) Race

(1) Caste
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127. Which of the following is the mq

disadvantage of spiral curriculum
(A) (_n:nprrlu-nwn. Ness

(B)  Repetition

(C) Nol slagre relevant

(D) Not considering previous knowledy



l:H. \\hl\ }l Ol ”l!‘ l('“('\" l!\.t" ‘.U':’]o'\ LIS an q'\,”j‘.:\'_ '

tor Fusion in curriculum d--x‘vlu;wnwnl )
‘\) ”!\'.t‘l\'

(B)  Environmental studies

(C)  Geography
(D)  Fconomics



129. Which is not a part of pedagogic analysis ?

(1)

(1)
(1)

(1v)

Analysis Of administrativi
responsibilities
Analysis of content

Analysis of learning experiences

(A)

Analysis of evaluation procedures

(1) only

(1)
(€)
(D)

(1) and (11)
(1) and (iv)

(1), (1) and (1v)







131. Who among the following is asse

expenential learning,

1) Gardner

Goleman

(1)) "I.I‘\'.\'f




Direct outcome of a model of teaching 1s

(A) Instructional etlects

(B) Nurturant elfecls

(C) Imphicit eftects

(D) Fmotional ettects



Which model of teaching uses facilitative

133I
support system 4
(A) Advanced organizer model

(B) Jurisprudvnln.al inquin model

(C) Group investigation mode
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34. Prine iplv of small steps 15 followed in:

(A) Lecture method

Jurisprudential inguiry
(C) Programmed learning

(D) Concept formation
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35. Globe s a:
(A) Graphic aid
(l{) [)iﬁ}"&].\’ c‘it'

s ANMiniature aid

(D) 3 D aid
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139. Which among the following 1s the lowes

level of objective as per Taxonomy Table ?
(A) Understand theoretical knowledge
(B)  Apply conceptual knowledyge

(C) Remember factual knowledge

clacopy nive




140. Which of the following uses Socratic stvle

(B)  Jurisprudential inguiry

(C)  Project method

(D)) Direct Instruction




The grading system followed in

stage in the state of Kerala

(A) Direct l"l.h“l\‘\',

()  Absolule 1'.!.\\“!\3',

(C)  Relative grading,

(I)) Norm rl’lt'l‘l'l\\'t‘d ,;r.ulin);

secondar










Curniculum is

(A) A Process

(B) A prudln {




Principle of purpose

Principle of ac

Principle of experience




ability to grasp the meaning of a

1s an objective under :

A\pph

Evaluate










¢ 1S a soltware

Histony




m desirned considenn

:\(‘?“'\ 1tV 1S .

(A) Grassroots curriculum

(B) Administrative curmriculum

(C)  Svstem model

(D)) Demonstration curriculum
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